EDRLXDEDPHUDHDNHRE) (DAHTHEXEXBIRXS)

Find the product.

1.
5x 9=

2.
1x(-8) =

3.
(-6) x b =

4
Dx (-9 =

b,
0x9 =

.
(-3) x (-9) =

.
12 x (-5) =

3.
(-10) x (-12) =

q
9% 9 =

10
B x () =

1

1
(-6) x (-8) =

12.
4 x (-2) =

13.
Tx (-1 =

14.
(-5) x (-5) =
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EDRLXDEDPHUDHDNHRE) (DAHTHEXEXBIRXS)

Find the product.

1.
(-9 x 1=

2.
Ux (-l =

3.
Tx8 =

4
(-4 x (-3) =

)
Ix 1 =

.
(-8) x (-9) =

.
Ux (-T) =

3.
(-8) x (-b) =

q
2xl12 =

10
3x(-8) =

11.
ox(-3) =

12.
I x (-1) =

13.
8 x (-5) =

14

(-10) x (Il -
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DA DERGKDERXS

Find the quotient.

1.
42 - 7 =

2
-8) + (-9) =

3.
36 + (-b) =

4
54 + (-9 -

5.
108 = 12 =

6.
35+ (-1 =

1.
(-90) = (H0) =

3.
21+ (-3 -

9
40 + (-10) -

)
56 - (-8) =

il
32 - (-8) =

12.
24 = (H2) -

3
(-100) + (-10) =

14

b4+ (-8) -
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DA DERGKDERXS

Find the quotient.

L
(-28) -+ 1 =

2
0 - (-9 =

3.
48 - (-b) -

4
24 + (-3 -

5,
144 + |2 =

6.
2+ (-3) =

.
10 = (-7) =

3.
(-I5) + (-5) =

9
55 + () =

10.
12 - (-8) =

il
M- (-9 -

12.
() + (-4) -

13.
(-64) - (-8) -

14

B+ (9 -
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vV N\NY /N 'IA\"IA\\\

EUXXDXDHUATH DA (=)

DAHRTDIEXEHEXRXS)
Find the product or quotient.

1. 2.
(-33) = 3= 9x (-9 =

3 )
5 - (-8) = (-8) x (-9 =

b, 6.
132 - |2 = 48 - (-0) =

1. 3.
(-5)x (-1) = (=3) x (-6) =

9. 10
42 + (-b) - 7+ (-9 -

il 12
b x (-5) = (-10) x (-4) =

14.
24 + (-8) -
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vV N\NY /N 'IA\"IA\\\

EUXXDXDHUATH DA (=)

DAHRTDIEXEHEXRXS)
Find the product or quotient.

1. 2.
(-10) x 1= (-I) x (-5) =

3 4

47 - (-b) = -Dx (-1 =
5. 6.

(-8) x (-2) = 3% - (-9 -

. 3.
35+ 1= (-12) x (-T) =

9 10,
28 + (-4) - 63+ (1) -

1 12

1 .
(-4) x (-3) = (-8) x (-I) =

14
36 = (-b) =
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vV N\NY /N 'IA\"IA\\\

EUXXDXDHUATH DA (=)
DAHRTDIEXEHEXRXS)

Find the product or quotient.

1.
-PDx(-2) =

2.
5x(-4) =

3.
b3+ (1) -

4.
(-10) x 9 =

b,
-I) x (-T) =

6.
5 - (-8) =

T,
(-9 x (-8) =

3.
45 + (-9 -

9
24 = (-b) =

10
2 - 4 =

1

1
-Dx (-9 =

12.
(-4 x (-2) =

14.
40 + (-4) -
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vV N\NY /N 'IA\"IA\\\

EUXXDXDHUATH DA (=)
DAHRTDIEXEHEXRXS)

Find the product or quotient.

1.
(-13) x (-b) =

2.
5% (-3) =

3.
B+ (-4 -

5
18 = (-b) =

b,
85+ 5=

6.
5 - (-8) =

T,
(-9 x (-8) =

3.
45+ (-9 -

9.
24 + (-h) -

10
(-133) x (-7) =

1

1
(-IT) x (-b) =

12.
(-20) x (-B) =

14.
(-13) x 8 =




vV N\NY /N 'IA\"IA\\\

EUXXDXDHUATH DA (=)

DAHRTDIEXEHEXRXS)
Find the product or quotient.

L 2
0 + (-b) = 5x (-3 =

3 &
(-20) x 5 = 18 = (-b) =
5 3
(-M x (-3) = B4 + (-b) =

1 3.
(-22) x (-4) - 36 + (-8) -

9. 10.

240 - (-8) = (-126) x (-7) =
11. 12.

(-28) x (-7) = (-30) x (-I0) =

14
25 + B =




vV N\NY /N 'IA\"IA\\\

EUXXDXDHUATH DA (=)
DAHRTDIEXEHEXRXS)

Find the product or quotient.

L
200 + (-25) =

2.
35 x(-B) =

3.
(-40) x 10 =

4
318 + (-9) =

b,
(-336) x (-T) =

6.
212 + (-8) =

T,
(-57) x (-b) =

3.
406 = (-T) =

9
bl2 = (-9) =

10
(-456) x (-B) =

11.
(-60) x (-9) =

12.
(-25) x (-9) =

14.
4% - 4 =




ANSWER KEY

EDRLXDEDPHUDHDNHRE) (DAHTHEXEXBIRXS)

Find the product.

1.
5x 9= 45

2.
1x(-B) = -56

3.
(-6) x b = -3b

4
Vx(-P=8

)
10x9 =190

6.
(-3) x (-9 = 21

T,
12 x (-5) = -60

3.
(-10) x (-12) = 120

q
9% 9 = 8

10.
8 x (-I) = -88

11.
(-6) x (-8) = 48

12
4 x (-12) = -48

13.
Tx(-1)=-49

14

(-5) % (-5) = 25
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ANSWER KEY

EDRLXDEDPHUDHDNHRE) (DAHTHEXEXBIRXS)

Find the product.

L 2
(-4) x 1= -28 Tx () = -99

3 4
Tx8 =506 (-Dx(3) =12

b, .
IxT1="TI (-8)x(-9 =12

1. 3.
Tx (-1) = -63 (-8) x (-b) = 48

q 10
2x12 =24 3x(-8) = -24

il 12
o x (-3) = -8 Ix (=1) = -1

13 14
8 x (-5) = -40 (=10) x (-1 = 10
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ANSWER KEY

DA DERGKDERXS

Find the quotient.

1.
42 -+ 1=0

2
(-8) - (-9 =1

3
36 + (-b) = -b

4
54 = (-9 = -b

5.
108 =12 = 9

6.
35+ (-7 =-5

1.
(-90) -+ (-10) = 9

3
21+ (-3) = -9

9
40 + (HO) = -4

10.
S + (-8) = T

11
3 - (-8) - -4

12.
24 + (-12) - -2

3
(-100) = (H0) = 10

14

b4+ (-8) - -8
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ANSWER KEY

DA DERGKDERXS

Find the quotient.

L
(-28) + 1 - -4

2
0 - (-9 = -0

3
48 - (-0) = -8

4
24+ (-3 - -8

5.
144 - 12 = 12

6
A+ (-3)=-1

T.
10 = (-T) = -0

3.
(-15) = (-5) = 3

9
55« () = -5

10.
172 -+ (-8) = -9

il
M- =

12
(1) = (-4) = 4

12.
(-b4) = (-8) - 8

14

B+ (-9 = -2

©www.thecurricu lumcorner com




ANSWER KEY

EUXXDXDHUATH DA (=)
DAHRTDIEXEHEXRXS)

Find the product or quotient.

1

(39) £ 3 - -

2.
9% (-9 = -8

3
56 + (-8) = -T

4
(B x (-9 =12

5.
32 - 12 = |

6.
48 - (-b) - -8

1.
(-5)x (-1 =35

3.
(-3 x(-6) =18

9
42+ (-b) = T

10.
12+ (-9 = -8

11.
o x (-5 =-30

12
(-10) x (-4) = 40

13.
4x(-2) = -48

14
24 + (-8) = -3
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ANSWER KEY

EUXXDXDHUATH DA (=)

DAHRTDIEXEHEXRXS)
Find the product or quotient.

1

(H0) x 1= -T0

2.
(-I) x (-5) = 55

3.
42+ (-b) = -

4
Dx (- =49

b,
-8 x(-2) =lo

6.
%+ (-9) - -4

.
35+:1=5

3.
(-12) x (-7) = B4

9
28+ (-4) = -1

10,
b3 - (-1 = -9

il
D x(-3) =12

12
(-8 x(-)=8

13.
9% (-9) = -8

14
36 = (-6) = -b
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ANSWER KEY

EUXXDXDHUATH DA (=)

DAHRTDIEXEHEXRXS)
Find the product or quotient.

1. 2.
Px(-2) =18 5x (-4 = -20

3 4.
b3 = (-T) = -9 (-10) x 9 = -90

5 3
() x (-1 =TT 56 + (-8) = -1

. 3.
(-9 x (-8) =12 45 - (-9 = -5

g. 10,
24 + (-6) = -4 2 +4 =3

il 12
Dx (D=8 (-Dx(-2) =8

3 14
(-12) x 9= -108 40 = (-4) = -0
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ANSWER KEY

EUXXDXDHUATH DA (=)
DAHRTDIEXEHEXRXS)

Find the product or quotient.

1

(-B)x (-6) = T8

2.
5% (-3) = -5

3.
PB-(-14) =1

)
18+ (-b) = -13

)
85 +5=1]

6.
56+ (-8) = -1

1.
(Dx(-8) =12

3.
45+ (-9 = -5

9
24 - (-b) - -4

)
(-133) - (-D =19

il
(-IT) x (-b) = 102

12.
(-20) x (-8) = 160

3
(-16) x T= -2

14
(-13) x 8 = -104
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ANSWER KEY

EUXXDXDHUATH DA (=)

DAHRTDIEXEHEXRXS)
Find the product or quotient.

1. 2.
90 = (-b) = -I5 5% (-3) = -45

3 )
(-20) x 5 = -100 18 + (-b) = -I3

5. 6.
(Mx (-3 -5 B4 + () - -4

1. 3.
(-22) x (-4) = 88 36 + (-8) = -IT

7] 10
240 + (-8) = -30 (H26) - (-T) = 18

11. 12.
(-28) x (-7) =196 (-30) x (-10) = 300

13 14
(-23) x 1= -lbl 256 + 8 =32
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ANSWER KEY

EUXXDXDHUATH DA (=)
DAHRTDIEXEHEXRXS)

Find the product or quotient.

1

1200 + (-25) = -8

2.
35 x (-8) = -280

3.
(-40) x 10 = -400

4
318 - (-9 = -42

5
(-330) + (-T) = 48

6.
212 + (-8) - 34

T,
(-57) x (-b) = 342

3.
406 - (-1) = -58

9
ol2 + (-9) = -8

10,
(-456) + (-8) - 57

11.
(-60) x (-9) = 540

12
(=25) x (-9 = 225

13.
(-92) x 8= -13

14.
49 = 4 = 124
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